7000 GeV pp NSD
‘_'/"_I\ L L L Y I N L L LY L O L B B L B B B B
> 107 — Charged Particle P Spectrum(NSD, |n| = 0.6 - 0.8) =
(D | _|
I—I|_ | ]
o B ]
© - ]
o
5 o |
pdl N |
v P -
1E E
~  m CMS -
| —&— Pythia 8.308 default B
| — - Pythia 8.308 tune-4c |
e e Pythia 8.308 tune-4cx |
_1 | ]
10 —, [ | | [ | P [ | | [ | [ H
e L T
2 =
w -
= - _
@) L _
S 1
8 _
T B _
x
05 _
......... T S TP T TP NN T TP T SR R SR SR RN S
0 0.5 1 1.5 2

Rivet 3.1.10, = 2.8M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


